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Role of Zero-Failure Information and Shortcomings
of Maximum Likelihood Estimation
Wu Shaomin Peng Pei
(College of Econ. M anag., Huaqiao Univ., 362011, Quanzhou)

Abstract A method of non-parametric analysis is presented. The method removes the restriction of
distributed model and enlarges application range. Thus the shortcomings of maximm likelihood estimation can
be found. An analysis is made on what occasion the maximum lihelihood estimation or the authors’ method
should be used.
Keywords life test, non—parametric analysis, failure inform ation



